COMMISSIONERS MEETING APRIL 5, 2018

The Greene County Commissioners meeting was brought to order at 10:00 am by Chairman Blair Zimmerman in the first-floor meeting room of the County Office Building. Others in attendance were: Commissioner Coder, Commissioner Trader, Chief Clerk Jeff Marshall, Cheryl Cowen, JoAnne Marshall, Karen Bennett, Katie Daugherty, Kelli Rishell, General Public and Members of the Press.

Buzz Walters, to lead the Pledge of Allegiance.

MINUTES— Commissioner Trader made the motion and Commissioner Coder the second to approve the minutes from March 22, 2018. Vote unanimous.

PROCLAMATIONS

- 1. Commissioner Coder made the motion and Commissioner Trader the second for a proclamation for National Service Recognition Day April 3, 2018. Vote unanimous.
- 2. Commissioner Trader made the motion and Commissioner Coder the second for a proclamation for National Grange Sesquicentennial Anniversary. Vote unanimous.
- 3. Commissioner Coder made the motion and Commissioner Trader the second for a proclamation for Pennsylvania 811 Safe Digging Month April 2018. Vote unanimous.
- 4. Commissioner Trader made the motion and Commissioner Coder the second for a proclamation for National Library Week April 8 April 14, 2018. Vote unanimous.

FINANCE AND ADMINISTRATION

- 1. Commissioner Coder made the motion and Commissioner Trader the second for an allocation in the amount of \$20,000 to Waynesburg University for improvements to the Training Facility used by County and local law enforcement, also for proposed partnership with Beaver County Community College. Vote unanimous.
- 2. Commissioner Trader made the motion and Commissioner Coder the second for an allocation in the amount of \$20,000 to Washington Township Supervisors to match Recreational Grant Funded to the PA Department of Conservation and Natural Resources to Rehabilitate Washington Township Community Park. Vote unanimous.
- 3. Commissioner Coder made the motion and Commissioner Trader the second for a lease rate quote from Enterprise for a 2018 Ford F-150 Police Responder for the Sheriff's office in the monthly amount of \$733.37. Vote unanimous.
- 4. Commissioner Trader made the motion and Commissioner Coder the second for a lease rate quote from Enterprise for a 2018 Ford Explorer for the Coroner in the monthly amount of \$536.63. Vote unanimous.
- 5. Commissioner Coder made the motion and Commissioner Trader the second to appoint Alan Vozel to the Greene County Library System Board of Directors for a two-year term. Vote unanimous.
- 6. Commissioner Trader made the motion and Commissioner Coder the second to approve a DCNR grant resolution for the Wisecarver Project in the amount of \$609,248. Vote unanimous.
- 7. Commissioner Coder made the motion and Commissioner Trader the second to approve a DCNR grant resolution for the Greene River Trail Project in the amount of \$807,448. Vote unanimous.

8. Commissioner Trader made the motion and Commissioner Coder the second to add Tim Fox to the Greene County Comprehensive Plan Project Advisory Committee. Vote unanimous.

HUMAN SERVICES

- 1. Commissioner Coder made the motion and Commissioner Trader the second for the grant application for Pennsylvania Commission on Crime and Delinquency for the Intermediate Punishment Grant. Vote unanimous.
- 2. Commissioner Trader made the motion and Commissioner Coder the second for the grant application for PA Commission on Crime and Delinquency for the Reentry Strategic Planning Grant. Vote unanimous.
- 3. Commissioner Coder made the motion and Commissioner Trader the second for the HUD Grant Agreement for the Continuum of Care Program. Vote unanimous.
- 4. Commissioner Trader made the motion and Commissioner Coder the second to extend an invitation for Stacey Courtwright, Sue Fazzini and Jeffry Grimes to join the Opioid Task Force. Vote unanimous.

MENTAL HEALTH AND INTELLECTUAL DISABILITIES

- 1. Commissioner Coder made the motion and Commissioner Trader the second to approve the FY2016/2017 Contract with Intermediate Unit I. Vote unanimous.
- 2. Commissioner Trader made the motion and Commissioner Coder the second to approve the FY2017/2018 Contract with Intermediate Unit I. Vote unanimous.

REDEVELOPMENT AUTHORITY

1. Commissioner Coder made the motion and Commissioner Trader the second to accept the resignation from John Rich Dorean effective 05-15-18. Vote unanimous.

CDBG

- 1. Commissioner Trader made the motion and Commissioner Coder the second for the Fair Housing Resolution. Vote unanimous.
- 2. Commissioner Coder made the motion and Commissioner Trader the second for a proclamation stating the County's commitment for Fair Housing. Vote unanimous.
- 3. Commissioner Trader made the motion and Commissioner Coder the second to approve of the Public Notice naming Karen Bennett Fair Housing Officer and the Complaint Process for the County of Greene, Cumberland Township, Franklin Township and Waynesburg Borough. Vote unanimous.

VETERANS AFFAIRS (3,362 Graves/ \$10,086 Total)

- 1. Commissioner Coder made the motion and Commissioner Trader the second for an agreement for the care and maintenance of 239 graves in the Monongahela Hill Cemetery located in Monongahela Township at \$3.00 per grave for a total of \$717.00. Vote unanimous.
- 2. Commissioner Coder made the motion and Commissioner Trader the second for an agreement for the care and maintenance of 25 graves in the Mt. Carmel Cemetery located in Springhill Township at \$3.00 per grave for a total of \$75.00.
- 3. Commissioner Coder made the motion and Commissioner Trader the second for an agreement for the care and maintenance of 44 graves in the Pleasant Hill Cemetery located in Gilmore Township at \$3.00 per grave for a total of \$132.00. Vote unanimous.
- 4. Commissioner Coder made the motion and Commissioner Trader the second for an agreement for the care and maintenance of 17 graves in the Jefferson Baptist Cemetery located in Jefferson Township at \$3.00 per grave for a total of \$51.00. Vote unanimous.

- 5. Commissioner Coder made the motion and Commissioner Trader the second for an agreement for the care and maintenance of 93 graves in the Fairall Cemetery located in Whiteley Township at \$3.00 per grave for a total of \$279.00. Vote unanimous.
- 6. Commissioner Coder made the motion and Commissioner Trader the second for an agreement for the care and maintenance of 75 graves in the Claughton Chapel Cemetery located in Whiteley Township at \$3.00 per grave for a total of \$225.00. Vote unanimous.
- 7. Commissioner Coder made the motion and Commissioner Trader the second for an agreement for the care and maintenance of 141 graves in the Thomas & Sand Hill (Old & New) Cemeteries located in Springhill Township at \$3.00 per grave for a total of \$423.00. Vote unanimous.
- 8. Commissioner Coder made the motion and Commissioner Trader the second for an agreement for the care and maintenance of 53 graves in the Muddy Creek Valley Cemetery located in Jefferson Township at \$3.00 per grave for a total of \$159.00. Vote unanimous.
- 9. Commissioner Coder made the motion and Commissioner Trader the second for an agreement for the care and maintenance of 341 graves in the Jefferson Cemetery located in Jefferson Township at \$3.00 per grave for a total of \$1,023.00. Vote unanimous.
- 10. Commissioner Coder made the motion and Commissioner Trader the second for an agreement for the care and maintenance of 24 graves in the Windy Gap Cemetery located in Aleppo Township at \$3.00 per grave for a total of \$72.00. Vote unanimous.
- 11. Commissioner Coder made the motion and Commissioner Trader the second for an agreement for the care and maintenance of 84 graves in the Fairview Cemetery located in Dunkard Township at \$3.00 per grave for a total of \$252.00. Vote unanimous.
- 12. Commissioner Coder made the motion and Commissioner Trader the second for an agreement for the care and maintenance of 323 graves in the Greene Mount Cemetery located in Franklin Township at \$3.00 per grave for a total of \$969.00. Vote unanimous.
- 13. Commissioner Coder made the motion and Commissioner Trader the second for an agreement for the care and maintenance of 33 graves in the Smith Cemetery located in Morgan Township at \$3.00 per grave for a total of \$99.00. Vote unanimous.
- 14. Commissioner Coder made the motion and Commissioner Trader the second for an agreement for the care and maintenance of 355 graves in the Cedar Grove Cemetery located in Perry Township at \$3.00 per grave for a total of \$1,065.00. Vote unanimous.
- 15. Commissioner Coder made the motion and Commissioner Trader the second for an agreement for the care and maintenance of 130 graves in the Centennial Cemetery located in Aleppo Township at \$3.00 per grave for a total of \$390.00. Vote unanimous.
- 16. Commissioner Coder made the motion and Commissioner Trader the second for an agreement for the care and maintenance of 56 graves in the Enon Cemetery located in Richhill Township at \$3.00 per grave for a total of \$168.00. Vote unanimous.
- 17. Commissioner Coder made the motion and Commissioner Trader the second for an agreement for the care and maintenance of 8 graves in the Claylick Cemetery located in Center Township at \$3.00 per grave for a total of \$24.00. Vote unanimous.
- 18. Commissioner Coder made the motion and Commissioner Trader the second for an agreement for the care and maintenance of 187 graves in the Hewitt Cemetery located in Rices Landing Borough at \$3.00 per grave for a total of \$561.00. Vote unanimous.

- 19. Commissioner Coder made the motion and Commissioner Trader the second for an agreement for the care and maintenance of 11 graves in the Macedonia Cemetery located in Jackson Township at \$3.00 per grave for a total of \$33.00. Vote unanimous.
- 20. Commissioner Coder made the motion and Commissioner Trader the second for an agreement for the care and maintenance of 8 graves in the Green Grove Cemetery located in Morris Township at \$3.00 per grave for a total of \$24.00. Vote unanimous.
- 21. Commissioner Coder made the motion and Commissioner Trader the second for an agreement for the care and maintenance of 125 graves in the Jacksonville/ Wind Ridge Cemetery located in Richhill Township at \$3.00 per grave for a total of \$375.00. Vote unanimous.
- 22. Commissioner Coder made the motion and Commissioner Trader the second for an agreement for the care and maintenance of 70 graves in the West Union Cemetery located in Morris Township at \$3.00 per grave for a total of \$210.00. Vote unanimous.
- 23. Commissioner Coder made the motion and Commissioner Trader the second for an agreement for the care and maintenance of 92 graves in the Wolf's Cemetery located in Dunkard Township at \$3.00 per grave for a total of \$276.00. Vote unanimous.
- 24. Commissioner Coder made the motion and Commissioner Trader the second for an agreement for the care and maintenance of 56 graves in the Braddock Cemetery located in Richhill Township at \$3.00 per grave for a total of \$168.00. Vote unanimous.
- 25. Commissioner Coder made the motion and Commissioner Trader the second for an agreement for the care and maintenance of 2 graves in the Old Swartz Cemetery located in Morris Township at \$3.00 per grave for a total of \$6.00. Vote unanimous.
- 26.Commissioner Coder made the motion and Commissioner Trader the second for an agreement for the care and maintenance of 198 graves in the Garards Fort Cemetery located in Greene Township at \$3.00 per grave for a total of \$594.00. Vote unanimous.
- 27. Commissioner Coder made the motion and Commissioner Trader the second for an agreement for the care and maintenance of 20 graves in the Phillips (Old) Cemetery located in Wayne Township at \$3.00 per grave for a total of \$60.00. Vote unanimous.
- 28.Commissioner Coder made the motion and Commissioner Trader the second for an agreement for the care and maintenance of 31 graves in the Highland Cemetery located in Dunkard Township at \$3.00 per grave for a total of \$93.00. Vote unanimous.
- 29. Commissioner Coder made the motion and Commissioner Trader the second for an agreement for the care and maintenance of 11 graves in the Slonaker Cemetery located in Aleppo Township at \$3.00 per grave for a total of \$33.00. Vote unanimous.
- 30.Commissioner Coder made the motion and Commissioner Trader the second for an agreement for the care and maintenance of 100 graves in the Blacksville Cemetery located in Wayne Township at \$3.00 per grave for a total of \$300.00. Vote unanimous.
- 31. Commissioner Coder made the motion and Commissioner Trader the second for an agreement for the care and maintenance of 337 graves in the Laurel Point Cemetery located in Cumberland Township at \$3.00 per grave for a total of \$1,011.00. Vote unanimous.
- 32.Commissioner Coder made the motion and Commissioner Trader the second for an agreement for the care and maintenance of 52 graves in the Fairview/Kiger Cemetery located in Whiteley Township at \$3.00 per grave for a total of \$156.00. Vote unanimous.
- 33. Commissioner Coder made the motion and Commissioner Trader the second for an agreement for the care and maintenance of 4 graves in the White's/Pleasant Ridge

- Cemetery located in Franklin Township at \$3.00 per grave for a total of \$12.00. Vote unanimous.
- 34. Commissioner Coder made the motion and Commissioner Trader the second to for an agreement for the care and maintenance of 17 graves in the Cumberland Cemetery located in Jefferson Township at \$3.00 per grave for a total of \$51.00. Vote unanimous.

NOTICES

- 1. Emerald Contura, LLC has submitted an application for a mining activity permit to the Pennsylvania Department of Environmental Protection located in Franklin Township.
- 2. EQT Production Company has submitted an erosion and sediment control general permit (ESCGP-2) to the Pennsylvania Department of Environmental Protection for the Lacko to Cogar temporary waterline project located in Washington and Amwell Townships.
- 3. Consol Pennsylvania Coal Company, LLC is providing notification regarding a pending submission of a chapter 105 water obstruction and encroachment general permit application for construction activities associated with the Bailey Mine Whitehorn Run to Long Run Augmentation Waterline project located in Richhill Township.
- 4. Consol Pennsylvania Coal Company, LLC is providing notification regarding a pending submission of a chapter 105 water obstruction and encroachment general permit application for construction activities associated with the Bailey Mine South Fork Dunkard Fork to North Fork Dunkard Fork 16I to L panel augmentation waterline project located in Aleppo and Richhill Townships.
- 5. Notice of Intent to prepare an environmental assessment for the proposed Sweden Valley Project and request for comments on environmental issues.
- 6. Consol Pennsylvania Coal Company, LLC is applying for a permit to add 1502 acres to underground permit and subsidence control area for development mining only for the Harvey Mine located in Morris and Center Townships.
- 7. Consol Pennsylvania Coal Company, LLC is applying for a permit to add 8248 acres to underground permit and subsidence control area for development mining only for the Harvey Mine located in Morris, Richhill, Gray and Center Townships.
- 8. PennDOT District 12-0 is submitting an application for a water obstruction permit to the Pennsylvania Department of Environmental Protection located in Center Township.
- 9. Consol Pennsylvania Coal Company, LLC has submitted an application for a mining activity permit located in Richhill and Morris Townships.
- 10. Application of the Southwestern PA Water Authority for the approval of the alternation of the crossing (DOT 367 917 K) by the installation of a water line where Golden Oaks Road (S.R. 0018) crosses, below grade, a track of Norfolk Southern Railway Company located in Center Township.

PUBLIC COMMENT

1. Colleen Nelson said the John Dorean will be missed.

ADJOURNMENT

Commissioner Trader made the motion and Commissioner Coder the second to adjourn the meeting. Vote unanimous.